day 3 polar slides per1.notebook March 02, 2020

We omitted #52.

Remember HW Key is online.
GHW#14 is due Friday.

End of Ch 9 Quiz next Monday.

Try 3 question warm-up.
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Polar to Rectangular

Warm-Up. Plot the pointand name it 4 ways (3 adchtlonal}
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Convert the following Rectangular coordinates to Polar coordinates:
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2)Use to‘/‘@r% to find reference angle for &

4) Write answer in the form (r, .9)

Convert the rectangular coordinates te wgoordinates:
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Converting Reﬁaggﬁhwnordinates to Polar Coordinates:
Steps: (Pi 9)
Plot the peoint firstI I
1) Find rusmg Tyt = [Xl—hj

3) Determine the quadrant the angle is in by looking at your ploté |
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Newd Specied € Aact

Converting Polar Coordinates to Rectangular Coordinates: (» , ) to (x.,v)

Steps 2 AOT M Db T
1) Graph th a@ the appropriate quadrant : Determine the correct sign for cosine and

sin of the angle

—_—

2) Use the following relationships to solve for x and y
x=rcosf andv=rsind

Converteach of the fnanwmgfmm polar coordinates, which the angle is given in radians, to

5 Give exact answers if possible; otherwise, round to the nearest
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A X, Y-

POLAR _FORM TO RECTAMGULAR FORM

Y X=rés& ﬁl rsmé-

2 2 _
REPLACEMENTS I = /X" +Y~ 8=tan’ -

Convert from Polar equation to rectangular form:
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